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He intended to throw two Amos and he threw four, etc.

OVERVIEW

The X773 discusses the case where he intended to throw an object two MR and he
actually threw it four mnx;' the rule regarding naw (if he threw it in a 1"77) is that
he 1s My, since he had no intent to throw it MK 7. Our NMHOIN discusses variations
of this rule.

- (59 97 naw) 91T HY2 9992 299N1HT MANY 1IN NV NIV Py
This rule, regarding naw that '7 P71 '2 71712 11001 is 7we, is valid even according

to »ax who, in 173 %92 p=p, holds liable one who was ' pm 2 p171% 11901 -
- 2”1‘11‘4 INNNDY DINY ‘|71ﬂ?b 12999) 9»N

For there in 9173 5% he intended to throw two and it turned out to be four —

mooIn proves that the meaning of 2%11 "7 P11 '2 P11 115N is as MdOIN interpreted it:
- 92501 R8N WITN M0V 939977 S923nm0 X TN ‘Wivnn 7InNY 19901 >Nt

For that case of '7 P71 '2 p171% 1on1 is similar to the case where he intended to
cut won and he cut 2217% (wWhere »aR maintains that he is 21); we must say there
that it means he thought it was w1>n and it turned out to be =272 —

mooIn explains why it is necessary to assume that it means 72177 RXA:
$(2,00 41 mman) 9AN P90 2992 NOMTD ’pvvm 13991 AT JNNI NIY 1219N) INY

For if he intended to cut this (which was v17n). But he actually cut the other
(which was 72111) that is a case of poynn (where even *ax agrees that he is 7d)

"If one throws an object four MR in a 2W2 1"77 he is 27 a nRYA 127P.
? He intended to throw something in order it should reach a certain place which he assumed was two n»x distance,
however in reality it was four nX distance, in that case *aR is 2»nn (since his intent was fulfilled [it is a nax?»
nawnn]; even though he was mistaken about the distance). However in our case the item went further than he
intended, therefore he is 79 since his intent was not fulfilled; it is not considered a nawn? NIRHA.
? In the xm3 there the dispute between X271 »ax regarding '7 pan ‘2 P> 101 is mentioned after their dispute
regarding 22w TNM WIPNI INA? 11503 (on 3,2). Therefore we may assume that the issues are similar.
* w¥9n means something which is not attached to the ground and may be cut on naw.
> 2 are foods which are still attached to the ground and if one cuts them from the ground he transgresses the
79871 of "X (harvesting).
® See 377 71901 71"7 '0I0 2,2y NAw, where he states that 927”7 AR TAM W20 AR TIAN? 11501 means 20 XITW KA.
7 PoyNnA is the term used where one has no intention at all of doing an Mo°X (such as nNX TN V20T DX AR 11503
q2a7). That which he intended to do, w2077 nR 7I0AY is certainly permitted. However, in a case where Rimw R¥nn
721, what he planned to do was 710K (since it was 7211); he was just not aware of it.
¥ See “Thinking it over’ # 1.
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as is evident in Y28 P5% 95, Therefore »ax cannot be discussing a case where his intention
was to cut something else, but rather we must say he cut that which he intended, however his
assumption (that it was w17n) was incorrect (it was 721n). Similarly here there is a difference
whether his intention was fulfilled (in a case where '7T R¥na1 2 1717 1°1Dn1) in which case »ax
maintains he is 211, or whether his intention was not fulfilled; the item went further (nX '7) than
he intended (nMnX '2), in which case even ™aX admits that he is 719 since his intent was not
fulfilled.

SUMMARY

There is a difference whether he intended to do something 20 and accidentally
did something else which is MoX (where all agree that he is 719) or whether he
intended to do something which he assumed is permitted but it turns out that it was
forbidden (where >*2R maintains that he is 27).

THINKING IT OVER

1. n9OIN cites the X3 in Nn™3.° The X773 there clearly states that poynn (which is
¥"10% Mo even according to *aX) is in a case where NX TN Y207 DR 722372 11003
721717. In this situation he had no intention of cutting at all; merely to pick up the
21on;'° how can we derive from this that if 92727 DX 70M w07 DX NN 71901 that
there too 2K agrees that he is w5 ?!

2. Does n199I10 mean to compare '7 PN 'a PIR MO0 to M WD DX TINAY P1oN)
"2 nX? By wibn it is acceptable to cut w1on; is it just as acceptable to 721n37
throw two 1"772 N1R?!

? See footnote # 8.
10 nooin may also be alluding to this, for maoIN writes 77 J0MY 712 1501, but does not write 7T JnM AT INA2 11N3;
indicating (as the &3 states in mn>12) that he was 771 7122377 11903, but not 1 ]INN>.
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